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Q=2045530000
P = 510510n + 204553

2P + 1 = 2(510510n + 204553) 4+ 1 = 10210201 4 409106 + 1 = 10210201 + 409107
0000010210200 20 2003,5,7,11,13,17000000 10000000

409107 =3 x 31 x 53 x 83 x 1
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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o0boobOooo3boogbobooboooboboooboooboobooboboooobOoobOoo
good
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Q=2045630000
P = 510510n + 204563

2P + 1 = 2(510510n + 204563) 4+ 1 = 10210201 4 409126 + 1 = 10210200 + 409127
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gbooboobogobooboboobboobooobuooooboon

Q=204569 0000
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Q=2045710000
P = 510510n + 204571

2P 4+ 1 =2(510510n + 204571) + 1 = 10210201 + 409142 + 1 = 10210201 + 409143
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P = 5105100 + 204583
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2P + 1 =2(510510n + 204599) + 1 = 1021020n + 409198 + 1 = 1021020n + 409199
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goooooogovyoooooooooooooOoboobDoobDOoobbOODbDoOOobboUOoDboO
goo

Q=2046010000
P = 510510n + 204601

2P 4+ 1 =2(510510n + 204601) + 1 = 10210201 + 409202 + 1 = 10210201 + 409203

0000010210200 20 2003,5,7,11,13,17000000 10000000

409203 =3 x 3 x 19 x 2393 x 1
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2P + 1 = 3(340340n + 136401)
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Q=12046130000
P =510510n + 204613

2P + 1 =2(510510n + 204613) + 1 = 10210201 + 409226 + 1 = 1021020n + 409227

0000010210200 20 2003,5,7,11,13,17000000 10000000

409227 =3 x 7 x 13 x 1499 x 1

oooo
2P + 1 = 273(3740n + 1499)
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P = 510510n + 204619
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gboboobogobooboboobboobbooobuoonooboon

Q=2046370000
P = 5105100 + 204637

2P + 1 = 2(510510n + 204637) 4+ 1 = 10210201 4 409274 + 1 = 10210200 + 409275
0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 204641

2P 4+ 1 =2(510510n + 204641) + 1 = 10210201 + 409282 + 1 = 10210201 + 409283

0000010210200 20 2003,5,7,11,13,17000000 10000000

409283 =7 x 59 x 991 x 1
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2P + 1 = 7(145860n + 58469)
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Q=2046430000
P = 510510n + 204643

2P + 1 =2(510510n + 204643) + 1 = 10210201 + 409286 + 1 = 1021020n + 409287
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409287 = 3 x 136429 x 1
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2P + 1 = 3(340340n + 136429)

o00ob0ooO0oo030b00b0obooo0ooboobDooOo0obobobODobDobOoobOobDOoDOon
goo

Q=2046470000
P = 5105100 + 204647

2P 4+ 1 =2(510510n + 204647) + 1 = 1021020n + 409294 + 1 = 10210201 + 409295

0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 = 5(204204n + 81859)
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Q=204649 0000
P = 510510n + 204649

2P + 1 = 2(510510n + 204649) + 1 = 10210201 + 409298 + 1 = 10210201 + 409299
0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 204661

2P + 1 = 2(510510n + 204661) 4+ 1 = 10210201 4 409322 + 1 = 10210201 + 409323
0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 = 3(340340n + 136441)
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Q=204667 0000
P = 5105101 + 204667

2P + 1 = 2(510510n + 204667) 4+ 1 = 10210201 4 409334 + 1 = 10210201 + 409335
0000010210200 20 2003,5,7,11,13,17000000 10000000

409335 =3 x 5 x 29 x 941 x 1

oooo
2P + 1 = 15(68068n + 27289)
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good

Q=2046710000
P = 510510n + 204671

2P 4+ 1 =2(510510n + 204671) + 1 = 10210201 + 409342 + 1 = 10210201 + 409343

0000010210200 20 2003,5,7,11,13,17000000 10000000

409343 =11 x 11 x 17 x 199 x 1
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Q =2046790000
P = 510510n + 204679

2P 4+ 1 = 2(510510n + 204679) + 1 = 10210201 4 409358 + 1 = 1021020n + 409359
0000010210200 20 2003,5,7,11,13,17000000 10000000

409359 = 3 x 136453 x 1

oooo
2P + 1 = 3(340340n + 136453)
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ooo

Q=2046830000
P = 510510n + 204683

2P + 1 = 2(510510n + 204683) + 1 = 10210201 4 409366 + 1 = 10210201 + 409367
0000010210200 20 2003,5,7,11,13,17000000 10000000

409367 =7 x 58481 x 1

oooo
2P + 1 = 7(145860n + 58481)
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Q =204689 0000
P = 510510n + 204689

2P + 1 =2(510510n + 204689) + 1 = 1021020n + 409378 + 1 = 1021020n + 409379
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Q=2046910000
P = 510510n + 204691

2P 4+ 1 =2(510510n + 204691) + 1 = 10210201 + 409382 + 1 = 10210201 + 409383

0000010210200 20 2003,5,7,11,13,17000000 10000000

409383 =3 x 3 x 13 x 3499 x 1

oooo
2P + 1 = 39(26180n + 10497)
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Q =2047030000
P = 510510n + 204703

2P 4+ 1 =2(510510n + 204703) + 1 = 10210201 + 409406 + 1 = 1021020n + 409407

0000010210200 20 2003,5,7,11,13,17000000 10000000

409407 = 3 x 239 x 571 x 1
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2P + 1 = 3(340340n + 136469)
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goo

Q=204707 0000
P = 510510n + 204707

2P 4+ 1 =2(510510n + 204707) 4+ 1 = 1021020n + 409414 + 1 = 10210201 + 409415

0000010210200 20 2003,5,7,11,13,17000000 10000000

409415 = 5 x 81883 x 1

oooo
2P + 1 = 5(204204n + 81883)

goooooo0ds0U0b0O0bOO0ODbOO0OOU0DOU0UDOUODOUODOUODOODOUODOO
oono

Q=2047090000
P = 510510n + 204709

2P + 1 =2(510510n + 204709) + 1 = 1021020n + 409418 + 1 = 1021020n + 409419

27



0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=12047130000
P = 510510n + 204713

2P + 1 = 2(510510n + 204713) 4+ 1 = 10210201 4 409426 + 1 = 10210200 + 409427
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2P 4+ 1 = 510510m + 409427
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Q=2047270000
P = 510510n + 204727

2P 4+ 1 =2(510510n + 204727) + 1 = 10210201 + 409454 + 1 = 10210201 + 409455

0000010210200 20 2003,5,7,11,13,17000000 10000000
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oooo
2P + 1 = 15(68068n + 27297)
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Q=2047330000
P = 510510n + 204733

2P + 1 = 2(510510n + 204733) 4+ 1 = 10210201 4 409466 + 1 = 10210201 + 409467
0000010210200 20 2003,5,7,11,13,17000000 10000000

409467 = 3 x 41 x 3329 x 1
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g00dob0obO0oo03000b0o00oo0ooboobDooDoO0bO0obO0oDOOobDOobO0oOobOoDbDOoDOn
goo
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P = 510510n + 204739

2P 4+ 1 = 2(510510n + 204739) + 1 = 10210201 4 409478 + 1 = 1021020n + 409479
0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=12047490000
P =510510n + 204749

2P + 1 = 2(510510n + 204749) 4+ 1 = 10210201 + 409498 + 1 = 10210201 + 409499
0000010210200 20 2003,5,7,11,13,17000000 1000000
409499 = 409499 x 1
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P = 510510n + 204751
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Q=2047610000
P = 510510n + 204761

2P + 1 = 2(510510n + 204761) 4+ 1 = 10210201 4 409522 + 1 = 10210201 + 409523
0000010210200 20 2003,5,7,11,13,17000000 1000000

409523 = 409523 x 1
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2P 4+ 1 = 510510m + 409523
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Q=2047670000
P = 5105100 + 204767

2P + 1 = 2(510510n + 204767) 4+ 1 = 10210201 4 409534 + 1 = 10210201 + 409535
0000010210200 20 2003,5,7,11,13,17000000 10000000

409535 =5 x 7 x 11701 x 1
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2P + 1 = 35(29172n + 11701)
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good

Q=204769 0000
P = 510510n + 204769

2P 4+ 1 =2(510510n + 204769) + 1 = 10210201 + 409538 + 1 = 10210201 + 409539

0000010210200 20 2003,5,7,11,13,17000000 10000000

409539 = 3 x 13 x 10501 x 1
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2P + 1 = 39(26180n + 10501)
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Q=2047730000
P = 510510n + 204773

2P + 1 = 2(510510n + 204773) 4+ 1 = 10210201 4 409546 + 1 = 10210201 + 409547
0000010210200 20 2003,5,7,11,13,17000000 10000000

409547 = 17 x 24091 x 1
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P = 510510n + 204779
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P = 510510n + 204781

2P 4+ 1 =2(510510n + 204781) + 1 = 10210201 + 409562 + 1 = 10210201 + 409563
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Q=2047930000
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2P + 1 = 2(510510n + 204793) 4+ 1 = 10210201 4 409586 + 1 = 10210201 + 409587
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Q=2047970000
P = 5105100 + 204797

2P + 1 = 2(510510n + 204797) 4+ 1 = 10210201 4 409594 + 1 = 10210201 + 409595
0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 204803
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P =510510n + 204811

2P + 1 =2(510510n + 204811) + 1 = 10210201 + 409622 + 1 = 1021020n + 409623
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Q=2048170000
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ogooo
2P + 1 = 13(78540n + 31511)
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